
Exploded diagram and spare parts list  DN638 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Exploded diagram and spare parts list  DN638 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

Machine Explode  Code Description 

Santos "Silent" Drinks Blender 62100 AE293 COMPLETE JUG 

Santos "Silent" Drinks Blender 62101  BOWL 

Santos "Silent" Drinks Blender 62103  BOWL COVER 

Santos "Silent" Drinks Blender 62105  AXLE LOCK 

Santos "Silent" Drinks Blender 62106  O' RING GASKET 

Santos "Silent" Drinks Blender 62109  COMPLETE CAGE 

Santos "Silent" Drinks Blender 62110 AE294 BLADE ASSEMBLY 

Santos "Silent" Drinks Blender 62114  O' RING GASKET 

Santos "Silent" Drinks Blender 62116  V RING GASKET 

Santos "Silent" Drinks Blender 62117  KNIFE WASHER 

Santos "Silent" Drinks Blender 62118  KNIFE LOCKING NUT 

Santos "Silent" Drinks Blender 62120  TIN BLENDER KNIFE 

Santos "Silent" Drinks Blender 62200  COMPLETE SOUND ENCLOSURE 

Santos "Silent" Drinks Blender 62202  SOUND ENCLOSURE BASE 

Santos "Silent" Drinks Blender 62203  SCREW M6X16 

Santos "Silent" Drinks Blender 62204  BOWL HOLDER 

Santos "Silent" Drinks Blender 62210  SOUND ENCLOSURE DOOR 

Santos "Silent" Drinks Blender 62300  BASE ASSEMBLY 220V EUROPE PLUG 

Santos "Silent" Drinks Blender 62301  MOTOR BASE 

Santos "Silent" Drinks Blender 62302  BRUSHLESS MOTOR 220-240V 50/60HZ 

Santos "Silent" Drinks Blender 62303  SHIFTER 

Santos "Silent" Drinks Blender 62304  SCREW M5X20 

Santos "Silent" Drinks Blender 62305  SWITCH 

Santos "Silent" Drinks Blender 62306  SCREW M5X20 

Santos "Silent" Drinks Blender 62307  DIAM 5 MM WASHER 

Santos "Silent" Drinks Blender 62310  FRONT PANEL 

Santos "Silent" Drinks Blender 62311  PLASTIC WASHER 

Santos "Silent" Drinks Blender 62312  SCREW M2X8 

Santos "Silent" Drinks Blender 62315  LCD SCREEN 

Santos "Silent" Drinks Blender 62316  KEYBOARD GASKET 

Santos "Silent" Drinks Blender 62322  SCREW M4X6 

Santos "Silent" Drinks Blender 62330  BOARDS SET 

Santos "Silent" Drinks Blender 62340  MAIN BOX 

Santos "Silent" Drinks Blender 62341  FOOT 

Santos "Silent" Drinks Blender 62342  SCREW 

Santos "Silent" Drinks Blender 62343  POWER CORD WITH EUROPE PLUG 

Santos "Silent" Drinks Blender 62344  SCREW 

Santos "Silent" Drinks Blender 62345  FRONT PLATE 

Santos "Silent" Drinks Blender 62346  WASHER 

Santos "Silent" Drinks Blender 62351  SCREW 3.9X9.5 

Santos "Silent" Drinks Blender 62352  SCREW M4X6 

Santos "Silent" Drinks Blender 62353  SCREW M4X10 

Santos "Silent" Drinks Blender 62361  SELF (TUBE) 

Santos "Silent" Drinks Blender 62362  WASHER AZ 5 ZN 

Santos "Silent" Drinks Blender 62363  SCREW H M 5 X 10 ZN 

Santos "Silent" Drinks Blender 62365  THERMAL PROTECTOR 5A 220V 

Santos "Silent" Drinks Blender 62400  CASE ASSEMBLY 



Exploded diagram and spare parts list  DN638 

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

Santos "Silent" Drinks Blender 62401  BASE CASING 

Santos "Silent" Drinks Blender 62402  SCREW M4X20 

Santos "Silent" Drinks Blender 62405  TABLE GASKET 

         

 


